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IF.5 | can solve polynomial equations

5.3 Solving Polynomials ( in text)
What are the real or imaginary solutions of each polynomial equation?
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5.4 (text) Polynomial Division
9. Is (x— 2) a factor of P(x) = %+ 2x% — 6x—4? If yes write the other factor. 2.
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10. Divide —3x% — 2x2 — x — 2 by x—2 using any method.
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14. Use the Rational Root Theorem to list all possible rational roots of the 14.
polynomial equation x¥ — 6x2 4+ 4x + ¥ = 0. Do not find the actual roots.

+2 39 + |
s \ \ So + %_‘ Jg_—G‘ 't \
x o\
Find all roots of the polynomial equation. (U Eoiy MM&\ 15
15. 2P 4 2x - 19+ 20=1
Pacwle st 0,F2,24 TE 220 2]
H 2 2 -4 20 X=-4
-8 2§ 20
2 - 5 Lo D
67 | 36-UHD
2x*-lLx+s  QF = 4 .
3y Lt -y _ Lx 2y ?7_}__1
o Ta T\ 2
16. ¥ =3x"=5x+15=0
¥ (x-3) S {x-23=0 R
(x=SD(x->) =0
2_:6 X:'—%
.!)(::I\F;—- f
‘K \
17, 2xt - 5x% 4 5332 - 125%+ 75 = 0 Lo S fe e 17,
Yy 2 -s 53 2% 15 =1
- k. 2
| —y Hm —Io 2X X +HS . C
| O
- oy § -
2 4 yo9 5 QF
3 ~ <
2% --L{lequ‘&’_"D . 32 JtJlsr-Li(z\(‘fS.a'B
. =3 e
2\ 2 -u Ha -1s 4
2 ’3/2 +75 l:’:\fﬁ| Ii‘,,ﬂz-m

2 - g /o H T

H5.5



Find all roots of the polynomial equation.
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5.2 /5.5 (in text) Writing a polynomial given its roots.
Write a polynomial in standard form with the given roots.
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